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int f(int n) { if( n—0) return 0;
return f(n-1)+f(n-2)+f(n-3); }
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void main() { int al[l2][15], sum;
sum=add(a, 12, 15); }
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int add(int a[][15], int m, int n)
{
int 1, J,s;
s =0;
for (1 =0; 1 <m; itt)

for (j =0; j < n; jtt)
s t=alilljl;
return s;
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1) return 1; if( n==2) reture 2;
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int ged(int a, int b)
{
while (a !=b ) {
if (a > b)
a=a - b;
else
b=Db - a;
}
return a;
}
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int x=0, y=0;
for(int 1=0;1<100;1+4+)
£3F %2F 2 B 2 B =k http://www. public. com. tw



http://www.public.com.tw/

AR AR (104 # 2 FOrdE )
for(int j=i+1;j<100; j++)
{ x++;
for(int z=j+1; z<=100;z++) y++;
}
[# ] :
= 14243+---498+99 = 4950
= 09%98 + 98%97 + 97*96 + - .- +2%2 + 1%¥1
3 shiw an 38U B quicksort(int *A, 0, n-1)en@l4est o f1* quicksort eiE B i
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void quicksort(int al[], int left, int right) {
int i, j, pivot;
if ( left < right ) {
pivot = a[left]; //&E % - B§ A%

= left;
j = right + 1;
while (1) {

[/ oAy o v AR
while (i + 1 < N && a[++i] < pivot) ;
/) e =45 0 v AR )
while (j -1 > -1 && a[--j] > pivot) ;
if (1>7j)

break;
SWAP(ali], aljlD);

alleft] = alj]; /A B L 823

alj] = pivot;
printf("left=%d right=%d-—> ", left, right);
print_array(a, N);

quicksort(a, left, j-1); // ¥ : Bk
quicksort(a, j+l1, right); // #+:#i& ?“EN,
}
}
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